SESSION 4

What do engineers need to consider when
designing new farm machinery?




Look at this large farm machinery in action.
Thinking about sustainable farming make a list of the advantages and disadvantages of using larger farm machinery.
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https://www.youtube.com/watch?v=cKOfOg4ptGI

Did you get any of these advantages or disadvantages?
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Look at these examples of agricultural engineers adapting the

E ngl neers tractor to solve different problems.
Modern farmers have a huge range of equipment options for
have the various activities they do throughout the year.
ada pted the The ultimate farming machine is undoubtedly the tractor,
which comes in a range of sizes to suit any farming operation.
tractor There are several different tractor types that have been
K j adapted for different purposes.
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Compact battery-] [ Track tractors ] [ Orchard tractors ]
powered tractors

[ Remote-controlled
tractors




(I'ractors can
have
attachments
added to:

. Plough
. Till

. Fertilise
. Sow

. Irrigate

( Harvest
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Can you spot any problems
with large farm machines and
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[ Visualise your design ideas ]

Using drawings and

Using 3D models
diagrams
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[ Share your design ideas ]

/You have 3 minutes to present\
your adaptation idea to the
group using your visualisations
to share your thinking with the
audience.,

Be ready to answer questions
about your idea. /

Success Criteria

Your mechanism simple
levers and pivots.

Score /5

Your mechanism can be
reduced in size then
returned to its original
size.

You have correctly
identified where the force
should be applied to
operate.

Can be operated by one
person.
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In this challenge we have
worked like agricultural

engineers by imagining,
planning and creating a

prototype attachment

for a tractor that can
easily change size.
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Look how these amazing agricultural machines have been
adapted to make different types of farm more efficient and
sustainable: https://www.youtube.com/watch?v=97JZMrnRnYM



https://www.youtube.com/watch?v=97JZMrnRnYM




